Progress Probe #1943062: 8th Grade Acid and Bases 0807.9.3.,0807.9.8-9.9 Nov. 16, 2012 (Grade 08 SC)
	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	A  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D103720

	2
	C  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D103722

	3
	C  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.3 Elements vs Compounds [99152]
	D104276

	4
	D  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.4 Mixtures vs Compounds [99153]
	D103522

	5
	C  
	Hard  
	PS 1: Chemical Reaction  
	SPI 0807.9.4 Mixtures vs Compounds [99153]
	D107014

	6
	A  
	Easy  
	PS 2: Properties of Matter  
	SPI 0807.9.9 Periodic Table of Elements [99158]
	D104271

	7
	D  
	Hard  
	PS 2: Properties of Matter  
	SPI 0807.9.9 Periodic Table of Elements [99158]
	D104274

	8
	B  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.4 Mixtures vs Compounds [99153]
	D107013

	9
	C  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.4 Mixtures vs Compounds [99153]
	D103479

	10
	A  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.4 Mixtures vs Compounds [99153]
	D107011

	11
	D  
	Easy  
	PS 1: Chemical Reaction  
	SPI 0807.9.10 Reactants and Products [99159]
	D85813

	12
	D  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.10 Reactants and Products [99159]
	D55381

	13
	D  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.10 Reactants and Products [99159]
	D84901

	14
	C  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.10 Reactants and Products [99159]
	D85219

	15
	B  
	Moderate  
	PS 1: Chemical Reaction  
	SPI 0807.9.10 Reactants and Products [99159]
	D85561
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	Question 1 of 15

	An ionic bond is a type of chemical bond that is created by the attraction between two oppositely charged particles. An ionic bond is formed between a non-metal and ____________.

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	a metal

	[image: image2.wmf]  
	B.
	another non-metal

	[image: image3.wmf]  
	C.
	a gas

	[image: image4.wmf]  
	D.
	a metalloid
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	The most common type of covalent bonding is ____________ bonding.

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	triple

	[image: image6.wmf]  
	B.
	multiple

	[image: image7.wmf]  
	C.
	single

	[image: image8.wmf]  
	D.
	double
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	[image: image9.png]The Periodic Table of the Elements
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Use the Periodic Table of Elements to answer the following question.

	 

	Which of the following is NOT a noble gas?

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	helium

	[image: image11.wmf]  
	B.
	argon

	[image: image12.wmf]  
	C.
	chlorine

	[image: image13.wmf]  
	D.
	xenon
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	In a saltwater solution, salt and water can be separated through the use of ____________.

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	blending

	[image: image15.wmf]  
	B.
	shaking

	[image: image16.wmf]  
	C.
	straining

	[image: image17.wmf]  
	D.
	evaporation
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	In solutions, an increase in temperature increases the solubility of solids and __________ the solubility of gases.
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	A.
	has no affect on

	[image: image19.wmf]  
	B.
	increases

	[image: image20.wmf]  
	C.
	decreases

	[image: image21.wmf]  
	D.
	speeds up
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	An atom's outer energy level is considered full if it has ___ electrons in it.
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	A.
	8

	[image: image23.wmf]  
	B.
	10

	[image: image24.wmf]  
	C.
	12

	[image: image25.wmf]  
	D.
	14

	 



	Question 7 of 15

	The modern theory of atomic structure is known as ____________ theory.
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	A.
	structure

	[image: image27.wmf]  
	B.
	electrical ion

	[image: image28.wmf]  
	C.
	Neilsen's

	[image: image29.wmf]  
	D.
	quantum
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	The ability of a solvent to dissolve a solute is called ___________.

	 
	 
	 
	 
	 

	[image: image30.wmf]  
	A.
	diffusibility

	[image: image31.wmf]  
	B.
	solubility

	[image: image32.wmf]  
	C.
	mixability
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	D.
	dissolving factor
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	A(n) _________ is a combination of two or more substances that are not chemically combined.
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	A.
	compound

	[image: image35.wmf]  
	B.
	molecule

	[image: image36.wmf]  
	C.
	mixture

	[image: image37.wmf]  
	D.
	isotope
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	A solution is a ____________ mixture.
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	A.
	homogeneous

	[image: image39.wmf]  
	B.
	heterogeneous

	[image: image40.wmf]  
	C.
	colloidal

	[image: image41.wmf]  
	D.
	distillation

	 


	Question 11 of 15

	The picture shows a periodic table with four elements P, Q, R and S in the same group.
[image: image42.png]




	 

	Which element has the largest atomic radius?

	 
	 
	 
	 
	 

	[image: image43.wmf]  
	A.
	P

	[image: image44.wmf]  
	B.
	Q

	[image: image45.wmf]  
	C.
	R

	[image: image46.wmf]  
	D.
	S
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	Identify the reactants from the following chemical reaction. 

[image: image47.png]H; +0; —p 2H;0
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	A.
	helium

	[image: image49.wmf]  
	B.
	2HO

	[image: image50.wmf]  
	C.
	mass

	[image: image51.wmf]  
	D.
	H2 and O2 
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	Manganese dioxide can be used as a catalyst in the following reaction.
[image: image52.png]2H;03039 — 2H;0y, + O3y





	 

	Which of these could a student use to increase the rate of the above reaction?
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	A.
	O2

	[image: image54.wmf]  
	B.
	H2O

	[image: image55.wmf]  
	C.
	H2O2

	[image: image56.wmf]  
	D.
	MnO2
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	The table below shows two reactants in different amounts in different containers.
[image: image57.png]Container| Quantity of | Quantity of
reactant X(mg) | reactant Y(mg)

A 10 15

B 20 25

c 40 30

() 30 20






	 

	Which container will have the highest reaction rate?
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	A.
	container A
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	B.
	container B
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	C.
	container C

	[image: image61.wmf]  
	D.
	container D
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	While performing an experiment, a student mixes sodium hydroxide and hydrochloric acid in a beaker. The following chemical reaction occurs:

[image: image62.png]NaOH(aq) + HCl(aq) —> NaCl(aq) + Hz2O(ag)





	 

	Why is the reaction identified as exothermic?

	 
	 
	 
	 
	 

	[image: image63.wmf]  
	A.
	Water is released to the surroundings.

	[image: image64.wmf]  
	B.
	Heat is transferred to the surroundings.

	[image: image65.wmf]  
	C.
	Water is acquired from the surroundings.

	[image: image66.wmf]  
	D.
	Heat is transferred from the surroundings.
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